
1 / 8

MODEL

FM7213-F

Questions?

GIVE US CALL: 1-888-980-5122
MON-FRI  8:30AM - 5:30PM (PST)

The Assembly Rating is a
5-point system showing the
level of effort needed to
assemble a specific product.

EASY DIFFICULT

VERSION # 23-06-15

2 - Persons

Phillips
Screwdriver
(Not Included)

(Included)

Allen Wrench

Recommended

BerenyceV
Rectangle

BerenyceV
Typewritten Text
24-06-18



2 / 8



3 / 8



4 / 8



FULL SIZE BED

5 / 8

1  1pc

Headboard

2  1pc

Headboard Leg
(L/R)

3  2pcs 4  2pcs

Side RailFootboard

5  4pcs

Bed Slat
-1387 x 45 x 18mm

HARDWARE INSIDE HEADBOARD

FM7213-F

A  1pc B  6pcs C  6pcs

Allen Key M4    Lock washer    Flat washer

D  6pcs

CSK m4 x 32mm

E  8pcs F  1pc

Allen Key M5  Bolt 1/4" x 1 3/16"

 6  4pcs

 Bed Slat Support
-225 x 30 x 30mm



6 / 8

FM7213-F is packed in 2 cartons

A x 1pc

Carton Designation Hardware
Full Size
Bed HB, FB
& HB Legs

1

3

Full Size
Bed Rails

5

4

B x 6pcs

C x 6pcs

D x 6pcs

FM7213-F-HBFB

2

X 2

X 2

X 4

FM7213-F-R

X 1

X 1

E x 8pcs

F x 1pc

6

X 4



ASSEMBLY  INSTRUCTIONS

1

2

7 / 8

Part  3  x2pcs

Part  2  x1pc
Part  4  x2pcs

Part  1  x1pc

Align side rails (4) to the bolts of the headboard Leg (3) and
footboard (2). Fully tighten the bolts.

4 F

3

 R

 L

3

4 2

Hardware   B  x6pcs

Hardware  C  x6pcs

Hardware   D  x6pcs STEP 1.1: STEP 1.2:

A

B

C
D

33

Align Headboard Leg(3) to Headboard(1),
then secure by using JCBC (B),
Lock Washer (C)and
Flat Washer (D) tighten with Allen Key(A).

6x

1

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Line

BerenyceV
Line

BerenyceV
Line

BerenyceV
Line

BerenyceV
Rectangle

BerenyceV
Rectangle

BerenyceV
Typewritten Text
3R

BerenyceV
Typewritten Text
3L

BerenyceV
Rectangle

BerenyceV
Text Box
Align the side rails (#4) to the bolts of the headboard leg (#3) and footboard (#2). Slightly tighten the bolts to secure the rails. 


BerenyceV
Rectangle

BerenyceV
Text Box
Align headboard leg (#3) to the headboard (#1) and secure by using bolt assembly of bolt (#B) with lock washer (#C) and flat washer (#D) use the allen key (#A) to tighten.




ASSEMBLY  INSTRUCTIONS

3

8 / 8

Part  6  x4pcs
Hardware  E  x8pcs

Part  5  x4pcs

Adjustable Glider
leveler

leveler

E

5

6

3

 4

 F

6

BerenyceV
Typewritten Text
This product is intended for RESIDENTIAL USE ONLY and not for commercial use. 

BerenyceV
Typewritten Text
Step 3-1

BerenyceV
Typewritten Text
Step 3-4

BerenyceV
Typewritten Text
Step 3-2

BerenyceV
Typewritten Text
Step 3-3

BerenyceV
Text Box
Attach the bed slat support (#6) to the bed slat (#5). Evenly place the bed slats (#5) across the rails (#4) and secure by using screw (#E). Tighten the side rail bolts completely.  Then adjust the slat support leg leveler to adjust the height to be right above the floor. 





